138png 193|A 03 PapsaN S{IA =

90T 144

0T

£20T

l[B4110yS 183png %@

[ 44 10T

ozoz

ll2juoys 198png %@

aoue|eg yseo @

gcoe S20T £20Z f4der4 1202 0202
(000000°52$) %0°0Z-
{000'000'0Z$)
%0°ST-
(000°000°STS) 3
%0'0T- %
- & (000'000°0T%) ® =
1 £ 2 ) e ° 3
g = S {ooo‘000's$) %os 2
g T 3 : 5
m (09 %00 .nm... ° 0 “ — %0'0 w
._m o) = 000'0005$ )
%0°S %0'S
{oT) 000°0000T$
- %0'0T 000'000°STS %0°0T
123png 193N 01 SISAjeuy 3Fe||IA PApUBIX] -- AAST MaN ON parolddy Sy 15822104 ABA adueleg ysed g (||eyHoys)/sn|ding 138png -- AAa maN oN pansoaddy sy 1se33104 Aejn
(686'689°17) (EE6'EQ9°ET) (056'88579) {8eL'gzy) Z8L'OLEY LETVL8L £15'209'TT S3|AS7 O/M doueleg Sulpu3
(950'920"8) (€86'7L0L) (122919} (0zsL6L'Y) (SE'e0s'e) (98€'87/°¢) (£59'7¥S"E) S9IA37 0/M 12142Q JO sN|dINS anUBABY
(686'689°1C) (€€6°€99°¢T) (056'8859) (8€L'9¢Y) I8L°0LEy LET'WL8L €1S'Z09'1T ddueleg Juipu3
(9509z0°8) (£86'7202) (ZT2291°9) (0zs't6L'Y) (Sre'cos’s) (98¢'87L'€) (£59°TPS E) H2142Q JO sn|dung anuaAsy =
GET'ET6'TY 080°621°09 €85'70¥'8S 08€'¥8/9S 088°T91'SS 0T6'689°€S TrS'9TS ES saJnypuadxy -
- - - - - - - S9I1AS7 MIN pasodoud +
= - - - - - - S2IA8T JuBwWade|day/mausy pasodold +
6ET/88'ES £60'7S0°ES TLEOVT'ZS 098'986°TS GEG'859TS ¥25'196'61 G88'€/6'6Y dNUBA3Y +
(€€6'€99'¢T) (056'8859) (8€£°97v) 8L°0LEY L2T'0L8'L €15°209°TT OLT'SYT'ST soueleq 3uluudag
9707 5702 ¥z0z €e0z 444 T20¢ 0z0¢
JeaA |easl4 Jea, |easi B3 [eosl4 Jeay |easly leaj |eosiy Jeay |easly Jea |edsid An7 map oN panoiddy sy 1se33104 Aepy




198png 193N O} PSPIBN SIIA=  ||esHioys 188png %@ llepioys 198png %@  eouejeg ysedE

9207 5202 20z £207 7207 1202 020z 9z0z s202 20T £202 720z 1202 020z
(000°000'¥5) %002
(000°000°2$)
. %0°ST-
= o
- . 000°000°Z$ _ %0°01- qm.
m 5 b ® — i e B 2 poo'ooovs ® £
z (02 ® il & g bt wos =
W ® z T 000'000°9% %
mu. s — o %00 W ® 000'000°85 %0°0 mq.
@ (o7 = &
bl %0°S 000'000°0T$ =
(s0) %0°S
000°000'ZT$
- == %0°0T
139png 000°000'¥1$ %001
139N 01 SisAjeuy 35e||IIA papUaIxT -~ SIB3A £ 104 07, Ul S|IIIN T - 15899104 0Z0T AR 3oueleg yse) % {|[BJ1oys)/sniding 198png -- sJeaA € 104 07, Ul S|IA T'b - 15899104 0Z0T ARy
(686'689°17) (€€6°€99°¢€T) (056'8859) (8€2'92v) 78L°0LEY LCT'VL8'L €TG'Z09'TT $91A97 0/m Bdue|eqg dulpuj
(805'579) S95°sze 9€E'8ET'T 0T6985C €05°508°¢ STT'EY (£592¥S'e) S91A7 O/M 1121J3( JO SN|dINS BNUAABY
(9££795¢°T) 900'696C STL'EYE9 £59'608'8 856'0T6'6 6/86SL'6 €1S709'TT 2ouejeg Juipu3
(¢8L'52€'Y) (60/'v/E€) {8€6'T9¥'7) (50£'S0T°T) 6L0'TST {v€9'778T) (£59'T¥5°E) 10J9Q Jo snjdins anuaAsy =
G6T'ET6T9 08062109 £85C0%'8S 08€'v¥8/°95 088'T9T'SS 0T6'689°€S TYS9TS ES saJnupuadxy -
¥£2'00L°€ ¥£2°00L°€ ¥£7'00L'E STC'T69°E ver'vs9'e 7S/'S88°T = S9IAS7 M3N pasodold +
- - - - - - - $3IA97 uswWooe|day/mauay pasodold +
6ET/88'€S L60'17S0°ES TLEOVTCS 098'986'TS GEG'8G9'TS ¥ZS196'61 G88'C/6°6Y SNUBARY +
900696 GTL'EVED £59°508°'8 8560166 6/8'65L6 €TSC09'TT 0/T'SPT’ST 2ouejeg Suluuidag
9¢0¢ Y414 c0¢ £€¢0¢ (44074 T¢0¢C 0¢0¢
JeogA |edslq Jeg, |edsl4 Jea) |edsiy Jeog, |edsiq Jea, |easlq Jeog |edSlH Jea) |eoslq siedh ¢ 104 0Z, 1 SIIUINL T - 15293404 020C AN




9z0z

139pNg 123\ 03 PaP3RN SIIIW =

ST0Z

jz4v4

£20C

|[e310YS 125pNng %@

zzoz

1Z02

90T rde4

lIejoys 198png %@

zoz

soue|eg ysed @

€207 [44v4 120z ozoz

0$ %0°0Z-
000'000'2% %0°sT-
000°000Y$ ,W
%0'0T- 3
w ()
2 2 ® e 5 & 000'000'9% g
g (02 HE g %os B
=2 -~ iy o S
3 m— - 2 3 owooss @ z
z v ° = %00 8 B ® ~ ® wro &
& (o1 = e 5 000°000°0T$ ® &
- %0'S .
(s0) 000'000°ZTS %0°'S
- —— — — %0°'0T
199png 000'000'YT$ %007
139N 01 SIsAjeuy a3e||Iy papuR1XT -- SIBBA € JO} TZ, Ul S||IA €9 - 35823104 0707 ABIN aoueleg yse) %g (||ejuoys)/sn|ding 138png -~ sieaA € JoJ TZ, Ul S|[IA £°9 - 35833404 0207 AeIN
(686'639°T2) (E£6'€99°¢T) {0568859) (8€L9Tv) C8L'0LE'Y LTTVL8'L €ISZ09TT $91A57 0/M Sdue|eg Sulpu3
8L LTIT'Y T€8°890°S 709'T86'S vLT'0TE L €81'9T8'7 (98€'8TL'E) (£G9'C¥SE) S3IAST O/M 121J9Q 10 SN|dING BNUSARY
E6EYYL'S ZvS'869°L 8T9'T0L'8 €£76'T6/°8 9¥S'0ESL LTT'L8'L €TST09'TT soue|eq 8ulpu3
{(6vT'vS6'T) {9£0€00'T) (S0€°06) LLETITT (185°eve) (98€'87/'¢) (£L597TPSE) 110143 40 SN|dINS ANUIADY =
GET'ET6'T9 08062109 £8570¥"8S 08€¥8/°9G 088'T9T°SS 0T6'689°¢S vs9TG'es saJnipuadxy -
L06TL09 LO6'TLO9 106'TL09 1688509 ¥9/'6ST’€E = = S9IA9T MAN pasodold +
- - = - - - . S3IADT ucmeum_awx\\smcmm meoaogn_ +
6€T'/88°ES £60'7S0O'ES TLE'0VT'CS 098°986'TS GES'8S9TS ¥2S'196'61 G88'€/6'6Y SNUOAY +
vS'869°L 8T9'T0L’8 €76'T6L°8 9¥S'0ES'L LTT'VL8L €TS'709TT 0LT'SPT ST aoue|eg Suiuuidag
9¢0¢ SY4dor4 [£40[4 £C0C (4404 T¢0¢ 0¢0oe
1edA |BISI4 Jesp |easid 1edA [eosl4 JedA |eds|4 JeaA |eds|d Jed, |essi4 JedA |BDSI4 sJedA € 105 TZ, Ul S|IIIN £°9 - 15833404 0Z0Z AN




128png 32|\ 03 papa3sN S([IN =

lles1ioys 198png %@ Jlejrioys 128png %, @  edueleg ysen @

9207 sz0z ¥z0z £207 7207 1202 0z0z 9207 szoz vZ0Z €20t 720T 1202 0zoz
0$ %0°02-
000'000'Z§ - %OST-
: 000°000%$ M
: %0'01- 7
= 73 [} -
2 (57 ~ = (] 5 2 00000098 g
8 ® %S = = e -]
2 (02 @ ® < 2 oo [ ] © g
o — ® - m 000000 2
e v e = 00 m.. %00 S
& (o) = 000'000'0T$ EN
L %0°S =
(s'0) 000'000°ZT$ %0°S
= = = %0°0T
138png 000°000YTS %0°0T
199 01 SisAjeuy a3e(|IN PIPUR1X3 -- SJBSA 17 10} 07, Ul S||IIA 6’1 - 1588104 0707 AR @oueleg yse) @ (||esrioys)/sniding 128png -- S1ESA {7 J0J OF, Ul S|IN 671 - 15898104 0707 ABIN
(686'689'T)  (€€6'€99°€T)  (056'885'9) (8eL'9zY) 78L°0LEY 1TT7L8°L €TS'T09TT $31A87 0/M BdUe|Eg BUIpU3
87’818 GSS'69/°T 97E'789°C OvL'LT0'Y GEY'TET’'S vo'6LL (£89°T¥SE) SDIAD7 O/M 112143 JO SN|dINS BnuUAABY
759019 6EY'PTT9 €ST'/98°] 96020901 98616601 T¥8'L2T0T €T16209'TT doue|eg ulpul
(£81°€09°€) (¥127759°C) (Ev6'6EL'T) (068'18¢) SYT'v98 (2L9'VLy'T) (£L59TPS'E) 12143 JO SN|dINS INUIAJY =
S6T'ET6'T9 08062109 £€85'70¥'8S 08€'178.9S 088T91°SS 0T6'689°€S [425 15819 saInypuadxy -
69CCTy' Y 692°CTY'Y 69 Ty’ 0£9°CTY'V 06%£9€Y YT1L'€ST'T = $31A87 MaN pasodold +
- - - - - - - SSIAST Juswade|day/mauay pasodold +
6€T'/88'€S L60'7S0°ES T/€°0¥T'CS 098'986'TS GES'BSITS ¥7S'196'61 G88'€/6'6Y 9NUSARY +
6EVYTC9 €ST/98'8 960°£090T 986'1660T T¥8°42T0T €1SC09TT 0/LT'SYT'ST aoue|eg Suiuugag
9¢0¢ Y4014 A4 €¢0¢ (44014 T¢0¢ 0¢0oc
Je3A |easH 1ed |eosid 1e3a, [eosid JedA |easid 1e, |eosid 1ea, |easid Jed, |easiq4 sJeak ¢ 104 0Z, UL S|IIAI 6°F - 3529404 0Z0Z AeW




199pNg 183IN 03 PAPIINSIIA=  [|B4HOYS 198png %@ Ile}310ys 128png %@  Pduejeg ysed B

9z0z S0z 20z €702 zoe Teoz

0z0z

970z SCoT ¥20C €20C zeoz 10T ozoz

0$

%002
000°000'T$ %0sT-
000'000%$ qm”

= %0°0T- 7
: - - o
a (7 ° a 5 2 00000095 g
1 %0'S- = o 3
z 02 & g ws 2
g — = o B wo § & UE @ o g
e - %00 S
& o ® £ 0000007 g
- — %0°S ® =
(s0) 000°000°ZES %0°S
- — — — %0°0T
188png 000000'tT$ %00t
183N 01 sIsAleuy a8e||IN papuaIxg -- siedA 1 10) T, Ul S|[IIN 9°9 - 15823104 0207 ABIN 33uejeg yse) % {||ejaioys)/snjding 198png -- Sue3A £ 104 T, UL S||IAl 9°9 - ¥SEIDI04 0707 AeIN

(686'689'1¢) (€€6'€99°€T) (096°885'9) (8€L'9ZY) 782°0L€Y LTT'VvI8'L ETSZ09'TT $31Aa7 0/m ddue|eg Bulpu3
¥81'969% LST'I¥9°S 820°0959 vTv'L68'L €9T/TT'E (98e'8eL ') (£59¥SE) S9IA97T O/M 1101J3( 10 Sn|dunS BnuaAsY
L60'TS0°Z €€09T/L'8 968'671'6 886'0€7'6 9€0T89L LCT'VL8'L €IST09°TT aduejeg Suipu3

(9€6'799°T) (€98°€TY4) 806'86T 7S6'6%ST (160'¢6T) (98€'8zL'E) (£59ctS€) 12142Q Jo snjding anuansy =

SE6T'ET6T9 080'6Z1'09 £€85°70v'8S 08€'v82°9S 088'T91'SS 0T6'689'€S TYS'9TIS €S sainipuadxy -

0Z1'T9¢€9 0CT‘T9€9 0CT'T9€9 LY LYE9 ¥ST'OTE'E - = S9I1AS7 M3N pasodold +

- - - - - - - S31A97 Juawade|day/mausy pasodold +

6ET/88'ES L60'7S0°ES TLE0¥C TS 098'986TS GES'8G9'TS ¥ZS196'67 G88'€L6'6Y SNUDAIY +
€€09T/L'8 968'6C1'6 886'0€¢'6 90’189/ LTT'VL8'L €16'209'1T 0LT'SY1'ST 2oue|jeg Buiuuidag

9¢0¢ i Tdor4 | 74474 £¢0¢C ot T¢0C 0c0oe
Jea |easiq Jea, |eosH Jea jeasty Jea |eosH Jeog |easH Jea |easi4 Jea, |edsi4 siedA p 10} TZ, Ul S||IIN 9°9 - 3sed3104 0Z0Z AeIN




9zoz

135pNg 19314 O3 PapasN S|IAN =

520C

¥zoT

€202

llef1ioys 123png % @

zeoe

T20T

0z0Z

9z0z §20T

Jle41ous 128png %@

) 74v4

£€20T

soueleg ysen @

zoe Tzoz 0Z0T

0s %0°02-
000'000°C% %0°ST-
000°000'vS Mw
= %0°01- 5
w o
s ® .5 | % oooooss £
(-] M b=
2 (07 = £ £ ® w0 g
3 ° . 2 2 oovoooss g
m (3] 53 %00 § e %0°0 g
& (o) — . - £ 000000013 F
] e =
(so) 000'000°ZTS %0'S
- — — %001
198png 000°000°vTS %0°0T
133N 03 sIsAjeuy a8e||I|A PIPUSIX] -- SIBBA G U0J 07, Ul S|IIN §°S - 35833104 0707 ARIN 3oue|eg ysed g (jjeyuoys)/sniding 198png -- s1e3A G 10} 0, Ul S|[IA §°S - 15822104 0707 ARIN
(686'689°1¢) (€€6'€99'¢T) (056'885°9) (8€L°92v) Z8L'0LE'Y LTTYVL8'L €1S209'TT $31n97 0/m Bdueleg Bulpu3
9¥9'106'T 6T/7S8T 06%°59L°€ 805°80T'S SOE€'TOE9 800°TEET {159 T¥SE) S91A97 O/M 1D143( 10 sn|dung anuaAsY
009985 G08'8%9°8 L€6'65L°0T 867'8S6°TT #08°208'TT ¥¢8'€0r°0T €15°709°TT aduejeg Buipu3
{S02'790°¢) (CET'TTTT) (T9g86T°T) ¥6%'SST 086'86€'T (689'861°T) {(£59°7HS'€) D13 Jo Sn|ding SnuaAsy =
GET'E€T6'TY 080'621°09 £85C07'8S 08€'78.°9S 088°T91'SS 0T6'689°¢€S I¥S'9TS €S saJnypuadxy -
168°€96'y TG8'€96'y 168°€96'Y ¥TO'ES6'Y GZET06Y L69°625C - S9IAS7 M3N pasodold +
- - = - - - - S9IA9T JuswWade|day/mausy pasodold +
6E1°£88°€S L60'7S0'ES TLEOVTCS 098°986'1S G£5'859°TS ¥7S196°61 G88'€/6'6Y 3NUaARY +
S08'8¥9'8 L£6°654'0T 867'856'TT 0820811 ¥C8'€0¥ 0T €1S709'TT OLT'SYTST Soueleqg Buluudag
9702 Sz0T ¥zot €20C [4dv4 120C 0202
1eaA |essiq Jea) |eosty JedA |edsi4 Jeaj |easi Jea, |eosid Jeay |easly Jea) |eosid sieah § 10y 07, Ul S|[IN §°S - 1SeI104 0Z0Z Ae




ge0z

138png 133N 03 papeaN S||)IA =

sZoz

jZ4v4

€207

jiepioys 3138png %@

[44v4

2oz

0zoz

920z sZ0C

l|ej1ioys 193png %@

2oz

€202

asue|eg ysed M

zzoz TZ0T 0zoz

0s 3 %002~
00000073 %0°ST-
: 000°000°%$ nm”.
@ %0'0T- [}
2 (s7) e L ] m_ m 000'000'9% .
g %0'S- = = . B
2 o2 £ 2 % 2
] * 2 S 000'000%8¢ Z
= 51 e ® @ %00 2 B z
£ — E = ® %00 =
& o7 ° s 000000075 g
-~ %0'S ™ =
4 — 000°000°ZT$ %0°S
- — — [ ] %0'0T
ummnsm 000°000YT$ %0'0T
129IA 01 SisA|euy a3e||IN PaPU3IXT -- SIBSA G U0} TZ, Ul S|[IIA Z - 15828104 0707 AR 2ueleg ysed g ()1egoys)/sn(ding 198png -- sJeah G Joy Tz, Ul S||IN £ - 1582104 0707 AN
(686°689°T7) (e€6'€99°¢T) (056'88579) (8€s'gzY) 78L'0LEY x4 %749 €1S709°TT S3lAS7 O/Mm Bdue|eq Fulpul
09T°L9¥'S £ET'BIT'D ¥00'TEE"L 99/'999°8 LOV'81IS'E (98£'82.¢) (£59'71S'E) S3IAST O/M 131J3Q 10 SN|dINg BNUIASY
587648 ZOETL00T ££9°00t'0T 1829186 859188~ LTT'7L8L €1SZ09'TT Souejeg Suipul
(8¥¥'6/2'T) (szgg€) 96£ 78S €797E6T TEG', (98€'8zL'E) (£59T¥s's) 32143 40 SN|dING BNUAAJY =
G6T'ET6T9 08062109 €8570V'8S 08€%82'95 088'T91'SS 0T6'689°¢cS vS91Ses saJnupuadxy -
809°9%/9 809°9%/9 809°9%L°9 EVTCEL 9/8'0TS'E = - $91A97 MAN pasodold +
- - - - - - - S3IA97 1uswade|day/mausy pasodold +
6ET°/88'ES L607S0'ES TLEOVT'TS 098'986'TS GEG'8SI'TS ¥ZS'T96'6Y 688°c/6'6Y SNUBA3Y +
z0€cL001 ££9°00v°0T 1829186 859188/ LTTVL8L €1S209°TT 0LT'SYTST aoueleg Suluuidag
9702 Sz0T 2oz €20z 44 120C 0z0z
Jea, |edsl4 JesA |easi4 JesA |easiq JBoA |BdSIH JEo, [edslq JEDA |BOSI4 Je3A |BISl4 siealk S 104 TZ, W S|IIIN £ - 1SeJ3.104 0202 Aepy




